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COMMENTS

1. -Transition on the 
ponies
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COMMENTS

1. -red dots are group 1, 
green dots are group 2
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COMMENTS

1. -the red dots are the 
first group, the green 
dots are the second 
group
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COMMENTS

1. -red dots kick with the 
R leg to the R diagonal. 
green dots kick with the 
L leg to the L diagonal.
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COMMENTS

1. -The green dots do the 
kick. The red dots do the 
bug down.
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COMMENTS

1. -Red dots are the first 
ripple. Green dots are the 
second ripple. Yellow 
dots are the third ripple.
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COMMENTS

1. -Transition happens on 
the prance walk to the 
back
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